
Read and understand all instructions and warnings prior 
to installation of product and operation of vehicle.

 »Product Safety Warning

Certain Zone Suspension Products are intended to improve off-road performance. Modi-
fying your vehicle for off-road use may result in the vehicle handling differently than a 
factory equipped vehicle. Extreme care must be used to prevent loss of control or vehicle 
rollover. Failure to drive your modified vehicle safely may result in serious injury or death. Zone Offroad Products does not recom-
mend the combined use of suspension lifts, body lifts, or other lifting devices. 

You should never operate your modified vehicle under the influence of alcohol or drugs. Always drive your modified vehicle at re-
duced speeds to ensure your ability to control your vehicle under all driving conditions. Always wear your seat belt.

Difficulty Level
easy 1 2 3 4 5 difficult

Estimated installation:  .5 hours

 »Zone Offroad Products • 491 W. Garfield Ave., Coldwater, MI 49036 • 888.998.ZONE • www.zoneoffroad.com

rev111413

D5501 Installation Instructions
1994-1999 Dodge 1/2 Ton 4WD &  
1994-2002 Dodge 3/4 Ton 4WD
Front Extended Sway Bar Links

Live Chat @ www.zoneoffroad.com  •  Website www.zoneoffroad.com  •  Email tech@zoneoffroad.com  •  Call 888.998.ZONE

Kit Contents
Qty Part

2 Sway bar U -brackets
2 Sway bar links (7.5")
2 Hourglass bushings EB1 - 5/8" ID
2 Hourglass bushings EB1 - 3/4" ID
2 Sleeve - lower (3/4" x 12mm ID x 1.98")
2 Sleeve  - upper (5/8" x 10mm ID x 1.38")
1 Bolt pack 

2 12mm x 75mm bolt

2 12mm lock nut

2 12mm flat washer

2 7/16" USS washer

2 5/8"-11 nylock nut

2 5/8" SAE washer

2 3/8"-16 x 2-1/4" bolt

4 3/8" SAE washer

2 3/8"-16 lock nut

*Important*  Verify you have all of the kit components before beginning installation.

Pre-Installation Note
1. This kit is intended for use on vehicles with 4-6" of lift that have a standard eye 

mount at the axle.

Installation Instructions
1. Part the vehicle on a clean, flat surface and block the rear wheels for safety.

2. Remove the sway bar links from the vehicle.  Figure 1



pg. 2 - D5501 Installation 

Figure 1

3. Install the new sway bar links with clevis bracket at the sway bar.  The small di-
ameter bushing and sleeve go into the bolt on clevis.  The sway bar links should 
offset in towards the sway bar with the 12mm hardware at the axle and the 3/8" 
hardware at the clevis.  Figure 2

Figure 2

4. Torque the 3/8" hardware to 35 ft-lbs. and the 12mm hardware to 55 ft-lbs.

5. Check all hardware after 500 miles.


